T4 = =N~
uﬂ_mnm N mum mw m [ \_% emn wm.
(1) 7 2 3
e
“ 25 -
o e !
SE 2b 3
=2 3 i
(2) %a (cm?) 4
H (3) -3 4 e
(4) EIFERX ﬁ@jrmwuwwo 2
15x +4y =175
rF—F> 10 (&) 2 (4) F—FYirvx—DEKIHS
7 v ¥F— 15 (&) TETEfELT B,
2
(5) —3 4
(6) 28 (B) 4
(7) 5 (@D 4
(8) 7 4
(1) (1) 3
A
2] 16
(2) 7® 4 2
© 20 — 45 %
® 6 2
® 4 2
&5 ©) 2
y L ;
(1) 7 642 (cm) 2
A 10 (cm) 3
(2) 7® Z BHF =/ DGE 2
3] ® 'BH = DG 2 16
® 14D & Z DM £ 2
4 (7) 72 () D
() 8 [cm) 3
(1) —4 2
(2) V\HWUIL 2
4 . 1o
(3) 7 ﬂﬂu 2
4 —~2, 4 4
(1) ® 8 2
® —3 2
(2) ARFEH 2 1=
ﬂ (3) 6 (A) 3
(4) 7 a—17 2
A 9 (A) 15 (H) 4

100




